T2 EXAMINATION- 2024
B.Tech-VI] Semester (CSE/IT/ECE/CE/BT/BI)
COURSE CODE (CREDITS): 18BIWPH732 (3) o MAX. MARKS: 25
COURSE NAME: OPTICAL FIBER NETWORK DESIGN

COURSE IN STRUCTORS: SKK

Note: (a) 4] questions agre compulsory,
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(¢} The candidate Is allowed to make Suitable numeri; assumptions where%e?‘-*zgg‘qu ed for
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1. What is RZ, NRZ and MC in optical fibers, Whgt?@ t&éﬁr Significance in relation to
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voltage levels for Communication systemg? % s% q‘%}s
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2. Derive relation for caleulating power budgqgél alj
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3. What is the difference between linear,ﬁ‘ff%z&:%fiinear scattering losses in optical fibers?
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4. Draw a Data frame and explain ﬂ%@%ﬁlﬂg
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5. (&) Consider 5 star nehvpg\lgigviﬂgg%@a%lector loss of 1dB per pair and insertion loss of 0.5

dB per channel, calculgzgﬁth%?g’ifstem losses for N=4 and N=10 stations on the fiber
ignoring fiber loss_}%hg sysgg’g margin,

(b) Considgf‘;a’?%it@bf‘i&%at taps 20% of light into the arms of a Tee couplers in use, The
insertiog&o*ssxpgf‘i’ee is 0.5 dB, calculate the System losses for N=4 and N=50 stations on
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the fiber ighoriH fiber loss and system margin.
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